> BNk

WUHAN UNIVERSITY

SESII

BESIIT L&0-T R FTRTLx» L eyl &

BEA: BB

f&/lji-?‘ .
F BA 2R S ey EAT 7AT

2022 54 A 8 H



H

AN

AN

BAFRTEZORI)
B A A 3T 77 ih
bRk
SR 2



R T TR
eI FE N
¢« B % AE# I QCD =g
© Z 3 CP #i#k

< H o2 CKM Ay



AL R N TIPSR EN TP

Signal Slde > Datasets:
J+ .
_ @ D*0:2.93tb'@ E__=3.773 GeV
Tag side / cm
K o D ': 7.31 fb1@ E_ =4.126 GeV - 4.226 GeV
Signal side Dy Double Tag (DT) : ] I & 2 A 4 D<S) Zen
&k B ARS8 A Gk £ LT 7T A Bk
Tagside
K~ _ D;_ > 0
Kt—Ds v/m Ng:g

_ Y VAN AR —
" ARSI Bag = 5 er st



D f—>rnnX FRLE S XA E

> HR M e

- HHREBATETLER

- B2l DB vt RERAR T ke

M(rTat

7~ ) interval

ABsrx.i (%)

—_ =
5 000D Utk W

4.63 +0.14 £0.12
4924+ 0.16 =£0.19
3.79+£0.13£0.11
3.55 +0.12 £ 0.11
2.42+£0.10 £0.08
2.87+0.10 £0.11
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D=t X Kfrf‘lﬁ’\’\itb D+%T[TETEX e e
) Nprod stig B(S:]cgr (V) i Npmd stiv (%)
1 1541.3+89.9 0.28+£0.02 0.28+0.02
I 1747.1 £ 111.1 0.22 +0.01
2 | 9349.14206.0 1.7140.04 1.70 +0.04 ) 0683 3 & 245 1 19 4 003
3 |14235.84£271.8 2.604+0.05 2.66 +=0.05 3 178903 + 349 6 290 + 0.04
4 122130.5+295.0 4.044+0.05 4.084+0.05 4 27671.6 + 366.3 3.4140.05
5 124638.2+264.9 4.504+0.05 4.51 +0.05 5 33224.6 +340.2 4.09 +£0.04
6 |16850.44207.4 3.07+0.04 3.14+0.04 f; 25“?3?823-?9 f 125551 f ﬁ? } i 883
7 4228.6 £127.5 0.77+£0.02 0.80=£0.02 g 2661..819?.8 0:33 i():(];
9 676.1£69.6 0.124+0.01 0.114+0.01 10 2803.0 + 80.2 0.35 + 0.01
Total [95381.0 4 598.9 — 17.60 £0.11 Total 123870.2 &+ 744.7 15.25 + 0.09

Br(D*—' ' X)=(17.60+0.11+0.22)%
Br(D’—mnX)=(15.25+0.0940.18) %
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This work CLEO [2] BES [1]
D* — ¢X 1.135 + 0.034 £ 0.031 1.03 +0.10 4 0.07 < 1.8 (90% C.L.)
D’ = pX 1.091 + 0.027 + 0.035 1.05 + 0.08 + 0.07 1715070 4+ 0.17
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B(D - ¢X) — B(D — ¢X) A (D'=0X):(-0.7 £ 2.8+ 0.7)%
B(D = ¢X)+ B(D = ¢X) A (D°=X):(-0.4 = 2.5 £ 0.7)%
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+ =0
Br(D'—mmn?)  =(1.343+0.013£0.016)% Toram oT6426 1072728810507
r(D'—mrr2n%) =(1.002+£0.01910.024)% ¥ E £ & 27tn 331+1.0 323+1.0H1.2422406
BI'(D+%2T[+T['T[0) (1 165i0.021i0.021)% 7t 2r0 483 +1.8 432+ 1.7HH6+L£2.7L£0.5
It 7®  116.7+3.0 116.04 3.0 +0.34+1.8+0.8
Br(D'—=2m'2n°)=(1.07410.040+0.030)% B XM T o 50 1097456 1116458 42438+ 1.3
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Br .5 (D*—nX)=(9.510.9)% 0.90 & HH—5&
Br . (D*—nX)=(8.621+0.35)%
Br ,,. (D—nX)=(6.510.7)%
( nX)=( ) 2.50 WEA—HK
Br . (D*—nX)=(4.68+0.18)%
ANFHER S HRTAN A
Decay Bl (x107) B (x107H | A (%) |
D’ > K-ztn  182.1+£35 189.1 +3.6 |-1.9+13+1.
D’ - K$7°n 98.4 +48 1063 +5.1 |-3.9+32+0.
D' > K-ztz'% 417427 488+32|-79+48+25 ST 2= ok 31 B E &
DY = atz—ad 298422 3334+25|-55+52+2. ARSI ) CP Ak
Dt - Kz"y 1299453 1323 +541-09+29+1.
Dt >z atany 354+£24 337+£24|4+25+£50+£1.
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Signal mode AE, N[")‘.I. N;{“Ej NSt €gg (%) Big (X 107 Bepg (x107%)

D" = K K 22 (—59.40) 132.1 +139 1321 £139  820£0.07 069 £0.07 = 0.04

DY KUKzt~ (=22.22) 821497  378+75 6324104 5.14+£004 053+009+003 122023 2 35 ¥ H A —E
D' KUK n'n’ (—43.32) 2788+ 188 166.1+151 1958 £203 638006 132+0.14£0.07

D' » KSK*aa' (-44,33) 1240128 95737 1193 £129  7.94£0.06 065007 = 0.02 .

D — K*K-g*z° (=39.30) 1311.7 + 40.4 13117 £ 404 1272+ 0.08 662 +0.20 £ 0.25 260 2.80 WE AR —H
D* = K0K a7  (—61.44) 359 +7.1 38728 4.0+£72  377£0.02 058 £0.12£0.04

D* = KOK-xtnt (=22.21) 50504245 7424103 46794250 1324+008 22740124006 238+0.17 "

D' = KK rta~ (=21.20) 2846+180 1534 27704182 9394006 18940124005 174£018 1-00 BEHA—K
D' - KoKOr'a® (—46.37) 10L1+113 420+81  80.1+120 3844003 1.34+020+0.06
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Events / (1.0 MeV/c2) (x10%)

Br(D*—K m°nn®) =(7.64£0.3020.29) X 10°
] Br(D—Ktnrn?) =(9.5440.30£0.31) X103
Br(D*—K %) =(29.04%+0.62+0.87) X103
| f |, Br(D'—K ' m?)=(15.28 £0.57%0.60) X 107
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